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QUESTION 1

What is the purpose of an auxiliary table? 

A. To hold the data for a column that is defined in a base table 

B. To hold only XML data 

C. To hold data temporarily 

D. To store rows that are deleted from another table 

Correct Answer: A 

Reference: https://help.sap.com/doc/saphelp_pd1655_data/16.5.5/en-US/c7/
cbf3e96e1b1014a434a1a425666017/content.htm?no_cache=true 

 

QUESTION 2

You have created a new index. What is the command to potentially change the access path for a static package? 

A. FREE 

B. RESET 

C. REBIND 

D. REFRESH 

Correct Answer: C 

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPEK_11.0.0/perf/src/tpc/
db2z_influenceaccesspaths.html 

 

QUESTION 3

We want to increase the salary for each employee (EMP) in the department (WORKDEPT) D11 and we want to see the
new salaries(SALARY) for each of them. 

Which single SQL statement will do this? 

C2090-320 PDF Dumps | C2090-320 Practice Test | C2090-320 Study Guide                                2 / 4

https://www.passapply.com/c2090-320.html
https://www.passapply.com/c2090-320.html
https://www.passapply.com/c2090-320.html


https://www.passapply.com/c2090-320.html
2024 Latest passapply C2090-320 PDF and VCE dumps Download

A. B. C. D. 

Correct Answer: D 

 

 

QUESTION 4

In the parent table of a referential constraint, a parent key must be which of the following? (Choose two.) 

A. A unique key 

B. A foreign key 

C. A primary key 

D. A duplicate key 

E. A secondary key 

Correct Answer: AC 

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPGG_9.7.0/
com.ibm.db2.luw.admin.dbobj.doc/doc/c0020153.html 

 

QUESTION 5

Which type of lock is obtained when using a `WITH UR\\' clause on an SQL SELECT statement in a data-sharing
environment? 

A. U-lock 

B. S-lock 

C. P-lock 

D. No lock is obtained 
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Correct Answer: D 

C2090-320 PDF Dumps C2090-320 Practice Test C2090-320 Study Guide

Powered by TCPDF (www.tcpdf.org)

C2090-320 PDF Dumps | C2090-320 Practice Test | C2090-320 Study Guide                                4 / 4

https://www.passapply.com/c2090-320.html
https://www.passapply.com/c2090-320.html
https://www.passapply.com/c2090-320.html
http://www.tcpdf.org
https://www.passapply.com/c2090-320.html
https://www.passapply.com/c2090-320.html
https://www.passapply.com/c2090-320.html

